
        

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

08/03   

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

2 – M6 x 35mm B.H.C.S 
2 – M6 Nylock Hex Nuts 
2 – M6 Flat Washers 
1 - Set Of Floorboards And Mounts  

Application(s) > 

HONDA VTX1300C/S 03-UP 

Instruction Manual > 

Your passenger floorboards will install in just a few minutes using common tools.  Read all instructions 
carefully and completely before installing your new passenger floorboards. 

1.  Remove your original passenger foot pegs from their mounts.  

2.  Install the passenger floorboard assemblies in the stock passenger foot peg location using the supplied M6 bolts, 
washers, nylock nuts and stock washers. 

3.  Check to make sure the bolts are tight prior to riding the motorcycle. 

 06-3636/06-3637/06-4636/06-4637 

DOCUMENT NO.  0019 REV. A 

        

23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016  
 

www.cobrausa.com  

08/03   

 

*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

2 – M6 x 35mm B.H.C.S 
2 – M6 Nylock Hex Nuts 
2 – M6 Flat Washers 
1 - Set Of Floorboards And Mounts  

Application(s) > 

HONDA VTX1300C/S 03-UP 

 

Instruction Manual > 

Your passenger floorboards will install in just a few minutes using common tools.  Read all instructions 
carefully and completely before installing your new passenger floorboards. 

1. Remove your original passenger foot pegs from their mounts.  

2. Install the passenger floorboard assemblies in the stock passenger foot peg location using the supplied M6 bolts, 
washers, nylock nuts and stock washers. 

3. Check to make sure the bolts are tight prior to riding the motorcycle. 

 06-3636/06-3637/06-4636/06-4637 

DOCUMENT NO.  0019 REV. A 


